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9999 XH X ET 11 8091
1510 B4 BT 0 815
1520 }EHI T HET 0 771
1530 HEHTHET 0 330
1540 K{23FHT 0 592
9999 HEMMRE X ET 0 2508
2010 £ ERAT 0 197
2020 % &7l 0 314
2030 ;AT 0 20
2040 ;HET—T B 2 216
2050 ;ET=T H 0 218
2060 Hg1F 0 49
2070 +RET—TH 0 265
2080 +ETZTH 0 211
2090 AT 0 1887
2100 fhiLHET 0 273
2110 }EWETET—T B 0 259
2120 HEMIETETZT B 0 293
9999 ZERXET 2 4202
2510 #AUEET 2 2345
2520 sk EEHT 2 1462
2530 = /NRHET 0 380
2540 FHi5HT 0 494
2550 ;HHET 1 271
2560 = SHT 1 1003
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9999 MERXET 6 6051
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3020 ;T HT 1 1013
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3040 B LHET 1 145
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3550 AETHT 0 863
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4010 41| BT 0 347
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4050 7K /T 1 522
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4070 Jt/RHET 1 206
4080 =;I;HAMT 0 247
4090 FRERHT 0 343
4100 B FEFNHET 0 150
4110 Jt FFET 0 186
9999 &I XET 6 3018
4510 AREE—ZHT 1 762
4520 EREE — ZEHT 1 206
4530 EREE=FEHT 0 211
4540 EREEIUZEHET 0 166
4550 EREE L FHT 0 119
4560 AR EENEEHET 0 97
4570 EREE-HFHET 0 166
4580 EREE)\ZHET 0 106
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6560 HRAIEILHT 0 143
6570 B E ALERIHET 1 154
6580 H&EAEHT 0 95
6590 HZE ATKHET 1 61
6600 B &= AHHT 0 91
6610 HEA L FGHT 0 50



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.4.30IR7E J4TBUET 4 (K=F) Al & & A A O (&)

fTEETR (KF)a—F {THETA (KF)4 1008l E  AOEt

6620 HZE A FGHET 0 59
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7020 — R AHT 0 255
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9999 — R&XEtT 2 898
8011 JRAHTFEERL 0 71
8012 YR AHTFEERA 0 142
8013 JRAHRTFAERIL 0 84
8021 IRAHTIZEKLY 0 87
8022 IR AHTIEKA 0 4
8023 R AHETEKIE 0 10
8031 IRAHTH ALY 1 189
8032 JABTHAA 0 12
8033 IRAHTH AL 0 16
8041 IR AHTELIFZL 0 60
8042 R ABTELIFEA 1 30
8043 R AHET LRI 0 19
8044 IR AHTELIRIZ 0 33
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8060 IR AHTFT# 0 145
8070 JRAHBTER 0 150
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8090 IR AHTHEE 0 48
8100 JRAHETH /1% 0 26
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8120 IR AHTEE"S 1 100
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9999 AKX 5T 3 1896
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9410 RETT & 1 416
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9999 RIXXET 1 924
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